do/dp_ [pb/GeV]

Ratio to ATLAS

T

=
<
[

1074

[EEY

0.5

7000 GeV pp tt
— I I I I I I | I I I I I -
B Jetp_ (pjTEt>25 GeV) 5
B = |
— u - ‘:@:‘~\ u —
; £X \\:@::\ [ ] §
L “\*@\ _
- \\\\ - —
N
- =N ]
[ m ATLAS - _

--0-- Herwig++ 2.7.1 default .
--f3-- Herwig 7.2.1 default g

mcplots.cern.ch [arXiv:1306.3436]

— G _______ @-~ ) B
u O ----- O b
. ------- EF----- EI"———E ----- @\\‘cg |
1 1 1 1 1 1 I \'\ \\~~\~ : : I I I
102

2"d jet p. [GeV]

Rivet 3.1.10, = 2.7M events

N

0.5



	Contents
	Page 1


